[image: image1.png]2. (15 pts) Name and draw Lewis structures fo- three isomers for the molecule CsHyO. Put one
isomer and name in each row below.
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[image: image2.png]Quiz: Ch9 & 25 Name:

Version Q (35 pts) 1 have not received or given, nor wil give any aid on this exam.
AP Chemistry November 29, 2006 Period:1 2 3 4
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1. (20 pis) Considerthis Lewis stucture: " \ L
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& (3 pt) What type of hybrid orbitals are employed by cach carbon? 2
Carbon #1 (on ey, _SF

Carbon #2 cemter. _SP_
Carbon #3 on ight): 50 2=
b.. (3 pts) Name the molecular geometry for Carbon #1 = 3‘3““1 Plamar
€. (3 pts) Name the electron domain geometry for Carbon #2: _ Liv €A

4. (3 pts) Approximate the rue bond angle described below as accurately s possible:

HCH 120
cec 180°
cecr 120°

& (3 pts) Considerthe dipole moment o this molecule
.. Circle one: This molecule s: or  nonpolar

i 1fthis molecule is polar, dravy the overall dipole moment ON the drawing below. If
nonpolar, draw the individual dipole moments of each bond ON the molecule

below.
ot
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£ (2 pis) This molecule contains_&_sigma bonds and_2- pi bonds,

li’
i

& (3 pis) Draw the atomic andlor hybrid orbitals which overlap (o form the bond between
carbon #3 and chigrine only. Then, abel the type of atomic andor hybrid orbitals for C #3
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